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SCHOLARS ACADEMY

[ REASONING ]

1. * Il ®) e T I yfowifia s ok fje 1w
THftevur B Agferd w1 & e nfordia gl & ad
TS BT 999 g
Select the correct combination of mathematical
signs to sequentially replace the * signs and to
balance the given equation.
253%23*%66*30*5*73

a) + + =X, - b) -X,+ + =

c) + = -X,+ d + - = +X

2. e, 3rgd ok Wir #T1 Wa/ATdt 31 Han, R #it
Riev-z3-ar 81 fa, ar==it & 71 A faarfea 81 erqd,
War &1 fyar 8 iR Har sifqarfea 21 srgd #t uelt
3 aren 31 oif, Tt @ v yopR waifera 22
Sparsh is the grandson of Apurv and Sima. Mita is
the sister-in-law of Jigar. Avi is married to the son
of Mansi. Apurv is the father of Mita, who is
unmarried. The wife of Apurv is the mother of Avi.
How is Avi related to Sparsh?

a) HIdl Mother b) d&H Sister
c¢) U3 Daughter d) RRex-ZA-ql Sister-in-law

3. U® fAf¥a Hs U9 A, 'DISTANCE' & '4-19-1-3' &
*q ® $Hifsa fHar mar § 3R 'DEVELOPE' HY '4-22-
12-16' & ®U ¥ Fifea foar mar 31 gu= ymar o
'IMMUNITY' & {5 UoR sifsa far smem
In a certain code language, 'DISTANCE' is coded as
'4-19-1-3' and 'DEVELOPE' is coded as '4-22-12-16'".
How will IMMUNITY" be coded in that language?

a) 9-13-14-20 b) 13-21-9-25

c) 9-13-21-25 d) 13-21-14-20

4. 39 APid BT 994 $< ot Fafaraa smpfa saar &
3T M|
Select the figure that will come next in the
following figure series.

OO AN [O OO .

<><> N[O DD '

A |O g|VV O%O
1) () (1 (Iv)

a) | b) I
c) i d) Iv
5. Y@Ml & I HYg &1 g9 i o Fafafaa
e & FAF B
(7,13, 24)

(Are: T3l B I e el A faurfora fg famm
gut Hemelf W Afkae @t et afgul IR &
foe, 16 - 16 W Jfhae S % 16 A SeA/9eTHT
(FSefte) ATom Fe onfe &t oI Gt 31 16 BT 1 3R 6
H e 9yt fh= 1 3R 6 WX TN Tfthart o1 &

SrgAfa TE 8 1)

a)
<)

a)

c)

a)

c)

a)

a)
c)

10.

Choose the set of numbers that is similar to the
following set.

(7, 13, 24)

(NOTE: Operations should be performed on the
whole numbers, without breaking down the
numbers into its constituent digits. E.g. 16 -
Operations on 16 such as
adding/deleting/multiplying etc. to 16 can be
performed. Breaking down 16 into 1 and 6 and then
performing mathematical operations on 1 and 6 is
not allowed.)

4,6,11) b) (2,2, 5)

(11,14, 12) d) (9,10, 19)

39 fadmey o1 997 P Sl Ugd Ug @ Sl yeR
et 2 ForT yopR <t ug SRR ug 9 Wefta @
Select the option which is related to the first term in
the same way as the fourth term is related to the
third term

11:?::15:239

121 b) 127

135 d) 131

frafafea 7 & s w1d Hifee -

Find the odd one from the following:

Tid] Silver b) ?IE@GFT Nitrogen
i€l Copper d) SfegHIIH Aluminium

39 W e #1 997 Fifow &t § 71§ snpfa Ft
eI ot ufafds ugH Fear gl

Select the correct option that gives the correct
water image of the give figure.

i%

MTTTTTTTTTTT N

%% %%

(U] Iy (1 avy
| by i
[ d) Iv

TP HIS UTHT T, INTRODUCTION H xgefpswhexpg
¥ &Y A Pifsa foar oirar 3, @ DOCTOR &1 His T
Frm?

In a coded language, INTRODUCTION is coded as
xgefpswhexpg then what will be the code for
DOCTOR ?

sphepf b) wghegf
gezpsf d) phsxhw

39 fawe &1 999 ¥ o fi WY ug ¥ S TR
et 8 Ror 7R goRT U gd ug & wefia 71
Select the option that is related to the third term in
the same way as the second term is related to the
first term.
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SCHOLARS ACADEMY

a)
c)

11.

a)
c)

12.

a)
c)

13.

23 18 29

— =17

50 40 62

32/ 66 b) 51/98
40/ 84 d) 31/67

I TP BT T9 BIfoTe ot Fafafaa smpfa s
# M St

Select the figure that will come next in the
following figure series.

pod bk Il
ok ik

(13} (I1) (1) (V)
| b) i
If dy Iv

TS O & 1Y URGRA e 1 ue i A
31 39 Aoy &1 9 P ot e+

F ITFY Me? R e w® s 31 a
AT g1

A square of transparent sheet with a pattern on it is
given below. Select the option which shows the
pattern appeared on the sheet when the sheet is
folded along the dotted line.

T
Xar
o

-9[10. |

U] (I (mm av)

| by i
If dy Iv
Prafif@a 3 o #, WHagy™ (rhombus)
wfFaal &) oxiar g S qgdt uee W%W

::%’g’?l (parallelogram) 3 ail'l%l’*fl P guifar 3 =Y
T'l?ﬂ 91 (circle) 39 Hfeaal &1
m%@ﬁmmm%l Frafifed & @ 319
%11 fawey T 78Y udg A arer feaal i gifar
?
In the following Venn diagram, rhombus represents
people who like movies, parallelogram represents
people who like novels, and circle represents people
who like theater. Which option represents those
who do not like novels ?

a)

c)

14.

a)

15.

a)
c)

16.

a)

c)

17.

a)
c)

’6""@

A+B+G+H
B+E+D+F

It & g Y & TR @ P AN F TaR WA B
30 24 TR F T1G M | I P TROT § fob ITPT
379 HEH & Sifaw e W omaT g1 28 AGER BI
JTHT YT ATY §T A T PTATI T4S AR 31X
IR & g a1 71 ARG 17 4R B AHAR A1, @
At 1 39 5w e smm?

Sammy's brother Rammy remembers that Sammy'’s
salary of November will come on after 24th
November. Sammy remembers that his salary is to
come on the last working day of the month. It was a
holiday on 28th November. Also, Sammy's office
has an off on every Saturday as well as Sunday. If it
is Monday on 17th November, then on which day
will Sammy's salary come?

b) A+C+E
d A+H

QehdR Friday b) HITAAR Tuesday

gJYdR Wednesday d) T=dR Thursday
glaﬁ-@ﬁ IR IR AR &8 s $0 g $ier
a._dcb_ab_c_d_bd

TRIT B TR H AT T &R 8

Consider the following arrangement that has some
missing letters:
a_dcb_ab_c_d_bd

The missing letters which complete the
arrangement are:

bddba b) bcadb

bdacb d) bbabb

& 1S Jmen # Fafafaa & F F9-31 ug uy g )
P ufawatiia H3m?

Which of the following terms will replace the
question mark (?) in the given series?

AVTE, CTRG, ERPI, GPNK,?
INLM

ILNM

UGRA:BATAS P A BRTHE R AxBIT AT T
FABFHTEIRIRA -1 34 R F A, BFT R
2, 9 Frafif@a 9 @ o)9-91 2vie a8 gxfar 2 fF p,
R ®T 9eTd 3% §?

If A + B means that A is the brother of B, A x B
means that A is the sister of B, and A - B means that
A is the father of B then which of the following
expression shows that P is the paternal uncle of R?

P-R+Q b) P+RxQ
PxR-Q d P+Q-R

b) MINL
d) INJM
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SCHOLARS ACADEMY

18.

a)
c)

19.

a)

c)

20.

T M wieru #t O s v F g Re o
oo & @ f57 3 FEmel 1 WER Fgar
aIfeq?

Which two numbers, from amongst the given
options should be interchanged to make the given
equation correct?

(6)°-20 + (28 + 7) - [(V4) x 8] + (2)* = 40

6 3R 86and8 b) 73R27and?2
23fR82and8 d) 20 3R 820and 8
fir M wy ok fspul @t wmgde ufewl gg

AT §T % Syl | &) 18 IRl 9 8, ud 8 a8

=T U A 39 aa | g ydia g it 3@, ag

fuffta #ifve & Re e el & ¥ FH-T1/A

?/?cf YA PT AIfbd TT ¥ ATV HIA/BIA
|

DY: %

$S ships, cu

¥ cup, stool T3

Tt windows, cups g

I. PO ships & windows '(ﬂﬁ B FHTGAT %

Il. ﬁi window, stool qﬁ%

. g cups, windows %

V. ﬁ:{ ship, stool qﬁ%

Read the given statement(s) and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the
statement(s) .

Statements:

Some ships are cups.

No cup is a stool.

All windows are cups.

Conclusions:

I. Some ships being windows is a possibility.

Il. No window is a stool.

111. All cups are windows.

IV. No ship is a stool.

Fad Ay |, 11 3R IV b) Pad A=y 11 3R Il
TWRU HRd & Only  IWU Hd © Only
Conclusions |, Il and IV Conclusions 1l and |l
follow follow

Fad pY | R I d) Had Y | RO
ST A & Only W%OnlyConclusionl
Conclusions | and |l follows

follow

HAM U @ A SrerT-orer fRuferat g=iig w105
A arl woe & AUl Bae w3 arell w10
Td BifE|

Three different positions of the same dice are
shown. Find the number on the face opposite the
face showing '5'.

a)

c)

21.

a)

c)

22.

a)

c)

23.

@ @ @

2 b) 1
6 d) 3

fFafafee 3 ¥ $=-d Jen & 7 5@ § vy g
(?) B! wfaRTiia i

Which of the following numbers will replace the
question mark (?) in the given series?

121, 169, 289, ?, 529, 841

484 b) 361

343 d) 441

T FY BT FERYT Fd gU o ey w@=ifea
1, 11 30% 11 RE 7T &1 Hy= & 9w U §U, WA g a
I ¥U 7 Ja@t i welta g g, A
¢ & o fFrpd af$e Fu F syt @1
SRIROT Hal B

DY :

P mice, keyboards gl

It keyboards, CPUs H

JHt mice, webcams ?I

e -

I. & CPUs, mice %I

Il. $® webcams, keyboards %I

I1l. 8 webcams, CPUs %I

Three statements are given followed by three
conclusions numbered 1, Il and Ill. Assuming the
statements to be true, even if they seem to be at
variance with commonly known facts, decide which
of the conclusions logically follow (s) from the
statements.

Statements:

Some mice are keyboards.

All keyboards are CPUs.

All mice are webcams.

Conclusions:

I. Some CPUs are mice.

Il. Some webcams are keyboards.

I1l. Some webcams are CPUs.

It Fpy  SFIRU aRA b) Had FHY 1 SR I
& All conclusions follow SR Rd § Only

conclusions | and Il follow

Fad ey 1| 3R I d) Fad Feed | SR
WU B & Only ST HIA & Only
conclusions Il and Il conclusions | and 1l
follow follow

u® fAf¥d #is 4w &, BELOVED &) 65 & &Y H
Fifsa frar T 8 3R FLOWER &1 79 & ®U &
Pifsa fwar mar g1

UM HNT # QUIVER & f5e yor &ifsa fear
STeT?

In a certain code language, BELOVED is coded as 65,
and FLOWER is coded as 79.

How will QUIVER be coded in that language?
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SCHOLARS ACADEMY

a)
c)

24.

a)
c)

25.

a)
c)

26.

a)

27.

a)

c)

28.

a)

c)

29.

a)

92 b) 94
91 d) 90

Uil & 39 T GYE T 999 Hifoe ot faw 1w
Tiftevor o Iugad gem?

Select the correct set of symbols which will fit in the
given equation?
142312=9
X - b) - + -
X, +, + d -+ +

= fw 7o =t 1w iyl wu A wafRa w3
1-AfRAReor 2-3md&R 3- TR

4- faaror 5- g

Arrange the words given below in a meaningful
sequence.
1- Review
4- Delivery
12354

31524

2- Order
5- Select

b) 13524
d) 35241

3- Browse

[ GENERAL AWARENESS ]

TS UHR &1 Afshg uiiag § &l ol o
B 93 A, PIRB1AT F HAT R gl a 6 dqof
BIRABT B Th HIRIBT H FaTierd Far 2

is a type of active transport that moves
particles, such as large molecules, parts of cells, and
even whole cells, into a cell.

'J-I&‘WUJBWT Phagocytosis  b) Sfd: DRIl Endocytosis
CIREAIRETI Exocytosis  d) G'Cl?i?ﬂ # I g T8l None

of the above

¥ 1820 ¥, fFu g uran % fagga urT fAwe &
Ya@bg g Bt TAHN At § MR 39 YBR fagga
qah e DI @I I?

In 1820, who found that electric current causes a
nearby magnetic needle to move and thus
discovered electromagnetism?

SN e Benjamin b) SR aAdb Hadd James

Franklin Clerk Maxwell

%'F fpfia 3RS Hans d) &ﬁ—ﬁﬁ Q"FCﬁtR Andre-

Christian Oersted Marie Ampere

A & Ao ATl §RT HATIT 9 a1l @R 81
The Moatsu is a festival celebrated by the Ao People
of

IS Nagaland b) SHH Assam

fafdwH Sikkim d) fSIRA Mizoram

fFrafafaa # @ g 3w $t aevar fay $t 99 a@d
qe@ &2

Which of the following country has the longest
coastline in the world?

Gﬁ@ﬁ‘lﬂTAustralia b) TSI Canada

c)

30.

a)

c)

31.

a)

c)

33.

a)
c)

34.

a)
c)

35.

a)

d) “golidis New Zealand

FafifEa § @ oF-91 iow 999 F 9y "R
forar @A ardl A & TH 9YE d URWRS
faerita uftad &, ot for 31 smardt & g TRwa®
forar & uftumaea=g I gt 82
Which of the following is the
evolutionary change in a set of
populations over time resulting
interactions between those populations?

ﬂ'ﬁ’—ﬁw (Coevolution)  b) ﬂ's'-mﬂa'm (Cohabitation)
8- 3R d) He-3IKId (Coexistence)

(Coadaptation)

Frafafaa & 3 g Fan/firgia F gar «wa uard
(%a a1 719) 1 fd & Qfrr yarg & amwa § 3 fagait
W Vg1 o & Ware $ fa ¥ gt #, a8t w A
T G4 3MUETPd HH YaTg -Tfa arat gaX fag 3t
qa- o HY gEm?

Which of the following states that in the case of the
horizontal flow of motion of fluids (liquids, gases),
at the points where there is a higher speed of flow
of the fluid, the measured pressure will be lower
compared to another point with a relatively low

speed of flow?
T @ e b) onfefiEw @ Rigid
Archimedes' principle

Bernoulli's principle
dH &7 99 Wien's law d) Sfad &1 Td Boyle's law

1206 Xt | Pgwg TR F1 g & 16, e Iua!
R Ul IR ¥R & feram?

After the death of Muhammad Ghori in AD 1206,
who took over the control of his Indian possessions?

fAem-3e-d9  Shferr b) Fdged TEd Qutbuddin

Nizam-ud-Din Aulia Aibak
SArHl lltutmish d) ORI Raziya

%ﬁﬁwmaﬂﬁﬁwaﬁaﬂ # UE o

USA

reciprocal
interacting
from the

Forests characterised by Heritiera fomes are found
in the

Hraffik Nilgiri b) a1 ¢dl Nanda Devi

JaRe Sunderbans d) ILERE fee
Seshachalam Hills

fFrufafEd # § $19-91 1o sSHeiae a@ 82

Which of the following is a diatomic element?

G{PﬁArgon b) BIferad Helium

AR Chlorine d) BRGRA Phosphorus

T g H SRaew @ gyHEdl [9 g gRT
SRTPIA AU REeR A o gwfa far mar
Who was recently honored with the International
Mother Language Award by Bangladesh Prime
Minister Sheikh Hasina?

Sl PUR faY™¥ Dr. kumar b) 81  #Hes fHsm  br.
Vishwas Mahendra Mishra
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a)

c)

38.

a)

c)

39.

a)
c)

40.

a)
c)

41.

a)

c)

42.

Sl T UH™ Dr. Ravi d) &0 =@ Kiran Sharma
Prakash

AE IR A fHa UoR & gfd g1d 82
How many types of teeth does a Human body have?
@ Three b) R Four

a Two d) 8 Six

g qdur fFafafea & @ 59 7o Akt I walta
82

Abhinaya Darpana is related to which of the
following dance forms?

HRAATSH I b) DHYBAl Jd  Kathakali
Bharatnatyam Dance Dance

PrAYS! T Kuchipudi d) FRIT I Sattriya Dance

Dance

el e s St fAgfd . griFt e @1
The appointment of the Chief Election
Commiissioner shall be made by:

< Parliament b) YT President

Y T Prime Minister  d) YRd & &1 A
Chief Justice of India

fFafafaa & ¥ 59 I59 &1 ga9 gyl IS
WRAY UN?

Kharavela was the most important ruler of which of
the following kingdom?

¢ Nanda b) dl&d Shailodbhava
HiciT Kalinga d) BHIRT Keshari
YR ARYE &1 FH-1 ogde Apufa & Ry

ST A Tl g2

Which article of the Indian constitution deals with
the President’s special address?

3G 87 Article 87 b) 3fIw5< 60 Article 60
3G 178 Article 178 d) 31Jw5¢ 56 Article 56

2023 T FAMY REPR T YdHdi fbd A
o mar 32

Who has been named the recipient of 2023 Nritya
Kalanithi award?

§98 @t Bombay b) UIAHANIRT BT St
Jayashri Palkulangara Ambika Devi
RaeaH T d) adasHt RREER
TIdTHArimalam S Vasanthalakshmi
Padmanabhan Narasimhachari

YR P siiged # Fafafea gemst & w5t
PTATIHH DI Ugd P

1. A R

1. YR BYS 3iigra

1. 3T Y&dTa

Iv. TieR-g=fa Jwehar

Identify the correct chronological order of the
following events in the Indian National Movement.
I. Nehru report

a)

c)

43.

c)

44.

a)
<)

45.

a)
c)

46.

a)

c)

47.

48.

a)
c)

49.

1. Quit India Movement
I1l. August Offer
IV. Gandhi-Irwin Pact

IVILLIN
IVAILLI

Ta €1 # fra 3 A B gu gl &Y 9w 9 &
o e srafve o @iw fear @ 2

Which country has recently launched 'Soyuz
spacecraft’ to bring back the stranded passengers?
UIfdhd™ Pakistan b) ¥4 Russia

3BT America d) HRd India

T 8 § URAIT [RTad Jd&0T §RT 1300 I QRIT
S WU el G T F?

Where has a 1300 year old Buddhist Stupa been
recently discovered by the Archaeological Survey of
India?

HIH Assam b) IS odisha

TORTd Gujarat d) &R Indore

fafafEa & & s=-a1 ymifa S § e Fg o
[ QR Tg urg relt 8

Which of the following is a geological upfold in
which the oldest rocks are found at its center?

ISEIUESH Syncline b) TSHdS Anticline
1'l_c':l'lfb—\ll'lflAntiform d) G'I'E@aﬂ'l'sﬂ Isocline

%ﬁm%m%waﬂﬁ FET STl
[

The Transition Zone between two ecosystems is
calledas___.

fA%d Niche
S Dun

b) LIV
d) LULIV,I

b) 13IT&'[@I'%TJI$IEcology
d) IPICH/AHHBT Ecotone

ARSI MaTg] PTITMT &l UelRfd w1 & g
foar T umi

Magdeburg hemispheres were used to demonstrate

W fdama magnetic b) PN @ coriolis

pull. force.

T B IR TE@HYU d) JgHSAT W @ Rfad
gravitational pull the power of atmospheric

towards the Earth. pressure.

9 faaR 1946 B URA Ft AU TUT F TAUYH
Fw_ wged

On 9th December 1946, the Constituent Assembly
of India met for the first time in

faeeh Delhi b) SIS Bombay
H&IH Madras d) ARl Calcutta

BT & § f59 32 A T 2reT 3 3uA yald AriYe
T A g forar @2

Which country has recently honored Ratan Tata
with its highest civilian honour?
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a) Jgudy USA b) Wi France
C) qﬁ?UK d) mAustralia

50. des gui—d Ul 2023 § YRd P13 T &2

What is India's rank in the World Happiness Report

2023?
a) 111 b) 126
c) 145 d) 134

[ QUANTITATIVE APTITUDE ]

-+ — . 4=7
51. Wi x+y=2zg a *°% Y $T UH ¥
Fiforg
If x + y = 2z then find the value
X Z 40
of X°Z V-2
a) -2 b) 0
0) -3 d) V-4

52. 3 PR fig A ok fig B ¥ T g 1 &R am1 [=

Ft 31 9 56 fTe a1g Te go & et §1 ul%m
P T 45 km/h 3R 60 km/h B, A g A IR B &F
g &1 g 91a BTl

Two cars start moving towards each other from
point A and point B. They meet after 56 minutes. If
the speed of the cars are 45 km/h and 60 km/h,
then find the distance between point A and B.

a) 65km b) 57 km
c) 98 km d) 102 km

53. 7,14 3R 18 ® 9@ 7% I fAursy gadt Iad |
HEHT AU 12 3R 48 A1 | favrey dradt wad oI
T F1 A1 faan 32
What is the sum of second least number divisible by
each of 7, 14 and 18 and the third least nhumber
divisible by both 12 and 48?

a) 288 b) 372
c) 3% d) 402

54. APQR ¥, £Q U® TUSIU 3| 3WT PQ WX S U fig s
PR & % ps = 6 A, SR = 13 A 3R QR = 5 A
8| PR &1 A fHam 82
In APQR, 2Q is a right angle. S is a point on the line
PQ such that PS = 6 cm, SR = 13 cm and QR = 5 cm.
What is the value of PR?

a) 7N7IH 7V7 cm
c) V347 T V347 cm

b) V345 It V345 cm
d) V349 ¥t V349 cm

55. TP GUAT P! THHIGR YoITE 44 T 3R 62 A, 3R
AT FT §AGE 0.1696 I §, A AT I UM
Y3t & g g (e @) fpatt 2
The parallel sides of a trapezium are 44 cm and 62
cm, and the area of the trapezium is 0.1696 m?, then
what is distance between the parallel sides of the
trapezium (in m)?

a) 033#ER033m
¢) 031#eR031m

b) 032 032m
d) 0384038 m

dab+ =16 sab+
56. dfe 3ab 2 4abgqy o1 A fpa &2
dab+ =16
If 3ab , then what is the value
3ab+ 1
of 4ab
a) 15 b) 12
c) 16 d) 10

57. 500 3R 1000 (S} H W FHA gY) & o fpa-it
H@ITE 5 31 8 | fauTa 72
How many numbers are between 500 and 1000
(both inclusive) divisible by 5 or 8?

a) 151 b) 155
c) 152 d) 153

58. fafefEa wrw &1 emyde srara Fifve ok 3ad
IJTUR IR difvrml At & wdeur @1 ueRl
frafifEa aré gRT gifar a1 § (Fd T 3wl § A a8
a1 T @ 6 Fafafaa 3 @ ude Rnfler & sru
YT 37| BT 9 37 §)

TN A A9t grT e 3wl &) pa T= T 2
Study the following graphs carefully and answer
accordingly.Performance of TV’s Surveyed is Represented
by the following chart (of the total points received assume
that the following is the break up of points received due to
each of the parameters listed below)

What is the total number of points earned by all the TV’s
for channels?
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faftr 2re?) @ gandt fifsdl &t weg Fea ot faan 4

700 . .
680- GRTGTH $3 91l D1 J&I
6601 TR s 3R T HH: NG I aTal aferrd ot
6401 AT o I MR s o feber 3ifirep safeaai 4 12: 9 1
620 U AT §IIT?
600 Study the graph carefully to answer the following
580 questions.
] Number of People Contributing towards helping Tsunami
560 victims from different Cities
5401 How many more people from City S would have made the
Soxny Pm'lrps "G Thonaon Al;az B;’L ratio 1:.l .: 9 between the nL!mber of people contributing
from Cities S and T respectively?
201 —— e T “"—‘__18__
181 —— 5500
16- 8000 | T T
14 4500—— —
12- = 4000 —
104 o
8 S 3500} — i -
P — —_— s 3000H — — - }
4+ _— — e § 25001 |- e (i) ) Bl
S DR = 7 E2000H | —  H F .
° Dwabdty VYCU/  Sound Chia . Fa Colour Z 1500} — f— — — —
OvD Systom Lock RIS socen Brightnoss 1000 Rl (IR | OO ] B O A it
500 —W — — — s
a) 490.42 b) 574.20 e e L
c) 553.70 d) 572.70 Cities
59. fg - & g snpfa &, AB fRT ¢ g1 &1 = 7 iR a) 1500 b) 2000
AD IV A FT fguST® 81 afdzy = 28° 8, &Y 2x FT c) 5500 d) 3500
= fa=r gem?
In the figure given below, AB is the diameter of the 62. W?ﬁﬁaﬁﬁq
given circle and AD is the bisector of angle A. If 2y Evaluate:
= 28°, then what is the measure of 2x? 4 1 3 2 1 1
3-+[-x{22x1=+—-}+1-]
8 4 5 13 4
a) 4.7 b) 5.1
c) 4.5 d) 4.3
63. Y faur T Y@ NG AR 3IENT-3(T auf A TP
PHU gRT T W Q@ T YoV 3R Afgar se=far
I T@ B gxifar |
Line graph given below shows the number of male
. . and female employees hired by a company in four
a) 118 b) 112 different years.
c) 108° d) 122° 60
m 50
cos A= E O0<A<—
40
60. dfe dYUT 3 tan Asin’ A
= z cos? A B, @ z BT HIH 1d FifrTl 2
3 m
cosA=_ 0<A< 2 20
If 5 and and 3tan Asin2 A =z
cos2 A. Then find the value of z 10
a) 32/9 b) 16/9 7
c) 48/9 d) 64/9 2016 2018 2020 2022
—a—Number of male employees  —#—Number of female employees
61. Frafafaa vl & R & fow aw &1 wmgd® sreaae Prafifed & @ frg a8 & St grT Prgea shaeay
o (T3 + Aigan) Bt o Fen gad siftean 82
Mob. - 01141676717,9312712114 Page 8
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a)
c)

64.

c)

65.

a)
c)

66.

a)
c)

67.

a)
c)

68.

a)
c)

69.

In which of the following years, total number of
employees (male + female) hired by the company is
second maximum?
2016
2020

b) 2018
d) 2022

T 0° < x < 90° 3MTV3 sec 2x = cosec 2x &,
cos? 3x BT HH JTd ST

If 0° < x < 90° and V3 sec 2x = cosec 2x, then find
the value of cos” 3x.

1/2 b) 132
V372 d) 3/4
The value of:

[Cos219° - Sin219°]2 + 4Sin219° Cos219°

tan31° tan59° + Sin 35° - Cos 55°
: 1 A o g2
0 b) 1
-1 d) 2
(9 -V8)'- (V8- V)" + (V7 -V6)" - (V6 - V5)" +
(5-4
0 b) 1
5 d 173

Told 6% & AT TR FOTHU FUR HI 5. 3,25,000 Pt
PIAA 9161 TP W S9aT g1 oid e § 99H W
ARHRT | 4% @ 81 R Tear g1 39 Il aA-
& 9 Toft DY e e a1 BT Ehelt 82

Ranjit sells a house worth Rs 3,25,000 to Manikaran
Kumar at a profit of 6%. Ranjit again purchases the
same house from Manikaran at a loss of 4%. How
much does Ranjit gain or lose from the entire
transaction?
%.22,560 Rs.22,560

%.23,984 Rs.23,984

b) %.19,500 Rs.19,500
d) %.13,780 Rs.13,780

A 35d ft o1t 31 20 AT & X wPar 8, B 3P
40 fT § o wPar § 3R ¢ P 60 fAT H B
H&d g1 4 9+t TP 914 S0 URY I 8, AfH A, 4
RfAscsdsisda g sk B v QT g | 6 A
Ugd OIS A1 B 1 59 USR B fbaq T & qrT 8
A alone can do a piece of work in 20 days, B alone in
40 days and C alone in 60 days. Everyone begin to
do the work together, but A leaves after 4 days and
B leaves 6 days before the completion of the work.
How many days did the work last?

22 & 22 days b) 24 & 24 days
22(4/5) f&71 22(4/5) days  d) 25 & 25 days

A, B 3R ¢ & di9 ¥.2800 P ¢=RIRT 39 YR faafka
P STl 8 fF B 3R ¢ & AW FT U HHRM: 3:4 8
TUT A 3R € & AW HT U HHAR: 7:4 Bl B FT
MR e &2

Rs.2800 distributed among A, B and C such that the
ratio of share of B and C is 3: 4 respectively and

a)

c)

70.

a)

c)

71.

a)

c)

72.

a)
c)

73.

a)

c)

74.

a)

c)

75.

a)
c)

76.

ratio of share of A and C is 7: 4 respectively. What is
the share of B?

%.600 Rs.600
%.660 Rs.660

b) %.540 Rs.540
d) %.700 Rs.700

gfe a =218 d¥[a(a®-6a+12)-8] =2
Ifa=21V[a(@®-6a+12)-8] =?

17 b) 18

21 d) 19

AMNO H 2N = 32° 3{R 20 = 64° 3R | zM, 2N 3R
LO%W%W%WW%@% at
£NIO HT HTY JTd F9|

In a AMNO, 2N = 32° and 20 = 64° and | is the
point of intersection of internal bisectors of M, «N
and 20, then find the measure of ZNIO.

108° b) 144°
120° d) 132°

P 3R Q HHM g HHT: 25 km/h 3R 40 km/h FI
I § 99 $d 81 afe P, Q ¥ 54 fFe e g

AT 2, A P GIRT a9 B TS gt I PifoTTI
P and Q cover the same distance at 25 km/h and 40
km/h respectively. If P take 54 minutes longer time

than Q then find the distance travelled by P.

50km b) 60km
30km d) 45km

e Jefia &1 Fa qéhaam—crzsm sq. cm Bl
a{shﬁﬁmm’,ft{mam L

The total surface area of a hemisphere is 23.76 sq.
cm. What is the lateral surface area of the
hemisphere?
18.75sq. cm
15.84 sq. cm

3000 SHfigaRI 7 Tt & g smae fean, e |
1800 U¥Y ¥ 3R AW wfgemd Ft1 afg 42% 7w iR
34% AfeATE et & fore g g o sy Switeary
1 yfcrRrd faa=m um

3000 candidates applied for a job, out of which
1800 were males and the rest were females. If 42%
of males and 34% of females qualified for the job,
then what was the percentage of disqualified
candidates?

67.50%
62.30%

b) 16.26 sq. cm
d) 12.84sg.cm

b) 64.60%
d) 61.20%

T SIS 31, 44, x, y, 12, z, 24 T HTA 30 §, @ x,
y 3R z &1 urey faran %.7

The mean of seven numbers 31, 44, x, y, 12, z, 24 is
30, then what is the mean of x, y, and z?

32 b) 33

31 d) 35

Select the option that can be used as a one-word
substitute for the given group of words.
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a)
c)

77.
a)
c)

78.

a)
c)

79.

a)
c)

80.

a)

c)

81.

a)

82.

a)

C)

Feeling satisfied with your own abilities
limp b) complacent

bale d) apprise

Select the INCORRECTLY spelt word.
Athlete
Benefitted

b) Practically
d) Antartic

Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

I was enough hapless to lose my keys.

enough hapless to be lost b) No
required

improvement

hapless enough to lose d) lossless enough hapless

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

The above photo/ is the only bearable/ image that
exists/ here of your's truly.

The above photo b) is the only bearable

image that exists d) here of your's truly

The following sentence has been split into four
segments. Ildentify the segment that contains a
grammatical error.

The boss let | off for breaking/ the office window,
when in theory/ she could have fined me/ about 30
dollars for the break.

The boss letl off for b) the office window, when

breaking in theory

she could have fined me  d) about 30 dollars for the
break

[ ENGLISH ]

Choose the option that would make the sentence
grammatically correct.
She endured the monster behaviour for years.

Shehave endured the b) She endured the
monstrous behaviour for monstrous behaviour for
years. years.

She endured the d) No change, the sentence
monstrous behaviour is correct as is.

since years.

The following sentence has been split into four
segments. Ildentify the segment that contains a
grammatical error.

Such intimately observations will untangle basic
conundrums in solar physics and could help us
better predict harmful solar outbursts.

Such
observations

intimately b) untangle basic

and could help us d) harmful solar outbursts

83.

a)

84.

a)

c)

85.

a)

c)

86.

a)

c)

87.

a)

c)

88.

a)

c)

89.

c)

90.

Select the most appropriate ANTONYM of the word
'IMMORAL' from the given sentence.

The city of Hamburg and its surrounding region
have generally decent health, with no pandemic
iliness having lately developed to any significant
degree.

Degree b) Decent

lliness d) Region

(84 - 88)Directions: In the following passage, some
words have been deleted. Read the passage
carefully and select the most appropriate option to
fill in each blank.

A little over half a century ago, chaos started
(1)___ a famous experiment. It (2)__ not from a
petri dish, a beaker or an astronomical observatory,
but from the vacuum tubes and diodes of a Royal
McBee LGP-30. This desk computer (3)_  some
800 pounds and sounded like a (4)____ propeller
plane. It was so loud that it even got its own office
on (5)___ floor and instructions came from down
the hall.

Select the most appropriate option to fill blank no.
1.

disturbing b)
streaming d)

throwing in
spilling out of

Select the most appropriate option to fill blank no.
2.

filled b)
did d)

came
escape

Select the most appropriate option to fill blank no.
3.

lifted b)
weighed d)

considered
influenced

Select the most appropriate option to fill blank no.

4.
passing b) closing

rolling d) heading

Select the most appropriate option to fill blank no.
5.

light b)
another d)

more
further

Select the most appropriate meaning of the
boldened/underlined idiom.

Replies to the advertisement we gave out in the
newspaper are arriving in fits and starts.

b) In bulk
d) Endlessly

Irregularly
At regular intervals

Select the option that expresses the given sentence
in direct speech.
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a)

c)

91.

a)
c)

92.

a)
c)

93.

a)
c)

94.

a)
c)

95.

a)

96.

a)
c)

97.

The trainer applauded him, saying he had done
amazing.

"Bravo! You are doing b) "Bravo! You have did
amazing."”, the trainer said amazing."”, the trainer said
to him. to him.
"Bravo! You have done d) "Bravo! You did
amazing.", the trainer said amazing.", the trainer said
to him. to him.

Identify the most appropriate ANTONYM of the
underlined word in the given sentence.

The game continued due to heavy rainfall after the
pitch became completely wet.

b) Played

d) Disregarded

Ongoing
Stopped

Select the most appropriate ANTONYM of the given
word.

Harmony
Hostility b) Congruity
Consent d) Concord

Select the option that can be used as a one-word
substitute for the underlined words in the given
sentence.

Today my dad will teach me how to make_a small
shelter for my dog.

Kennel b) Canal

Burrow d) Shed

Select the option that can be used as a one-word
substitute for the given group of words.
A cluster of houses in a village

Fleet b) Barrack
Hamlet d) Reformatory

In the given sentence the underlined word may

have been incorrectly spelt. Identify the option that

rectifies the spelling. If there is no error in spelling,

select 'No error'.

The Education Ministry believes that after the

reopening of the schools, it will take some time to

regain the Equiliebrium.

Equilibreum b) Equelibrium

No error d) Equilibrium

Select the most appropriate option to fill in the

blank.

Her injuries were so grave, there was nothing
could be done to save her.

b) That
d) Who

Something
Everything

Sentences of a paragraph are given below in
jumbled order. Arrange the sentences in the correct
order to form a meaningful and coherent
paragraph.

a)

c)

98.

a)
c)
99.

a)

c)

100.

a)

c)

A. Such problems include difficulty in implementing
decisions, providing social security to everyone and
ensuring employment.

B. This is because almost all countries face problems
related to their population.

C. The most crucial aspect of the problem is
population pressure.

D. The population explosion is an important issue
these days.
CDAB

DBAC

b) DBCA
d) ABCD

Rearrange the parts of the sentence in correct order.
Electrolytes like

P. important for balancing the water in your body
Q. are present in the body'’s fluids and are

R. are electrically charged minerals that

S. sodium, potassium, chloride and magnesium

PQSR b) SPRQ
SQRP d) SRQP

Select the option that expresses the given sentence
in passive voice.
The cat has caught a puny mouse outside the house.

A puny mouse has been b) A puny mouse have been
caught by the cat outside caught by the cat outside
the house. the house.

A puny mouse has being d)

caught by the cat outside
the house.

A puny mouse has been
caught by a cat outside
the house.

Select the option that expresses the given sentence
in active voice.

This trail is not frequently visited by hikers.

Hikers not have b) Hikers does not
frequentlyvisit this trail. frequently visit this trail.
Hikers do not visit this d) Hikers did not frequently
trail frequently. visit this trail.
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